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| Time: 10 Minutes | Paper Math 8 (T-1) | Total Marks: 10 |

| 1st Month, 1st Week, 5th Day |Sub domain (i) Exercise 1.2 Q#2,3

Q.1. Choose the correct options. (1x 5=35) -q/.,l:?'!(,,!zuj;
(i) Which is a property? x<yorx>yorx=y ?‘gwuau;g

(a)| transitive ez |(b)| trichotomy L}Ut"‘
(c) | division > |(d)| subtraction &’ y
(ii) Which is a property? 7>zandz>5=7>5 ?‘LMGU%Q
(a)| division o= [(b)| multiplication RV
(c)| transitive e, [(d)| subtraction (3 /J

(iii) In 15 which order property is used?
?(_GQJJWIMGJ.L/LU/JIS
(a)| additive inverse u’:‘;’ 3 (b) | multiplicative inverse u’:&” d Vel

(c) | division = |(d)| None u'.?( J/
X _Z O oot o(§e
(iv) Which is a property?  X<Z :>z<z,€>0 -‘4'-*&"(701)"(:
(a)| transitive ez [(b)|division (ol
(c)| multiplication d ~ |(d)| subtraction dj /J
Which i V2 a>b :>3<h,c<0 S oo l5ils,
) ich is a property? c ¢ e Jsy
(a)| multiplication d ~ |(b)| trichotomy S
(¢) | division >~ |(d)| transitive g

Q.2.Answers the following questions.(0.5x4=2) -/ ;cyl’,lﬁécyﬂlﬂz 3l
(1) Identify which property is used? -(J i Sx t'j(LL &ﬁdlﬁ;”w (P81 u:’/
(i) 5>2=5.c<2.c,c<0 (i) 10<15=10.c<15.c,c<0

(iii) X<y =X-W<y-W (jy)a>b=a-c>b-c

Q.3. Identify which order of property is used? (0.5x6=3)
gl b s
-2 7 -9
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| 1st Month, 1st Week, 5th Day [Sub domain (i) Exercise 1.2 Q#2,3

Q.1. Choose the correct options. (Ix5=15) -/ /..._«l‘s:'ll(.,lﬁw/)
(i) Which is a property? x<yorx>yorx=y ?‘Lc—a‘l}u'u:';

(a)| transitive ez &> |(b)| trichotomy 805'
(c) | division =& [(d)| subtraction &). i
(i) Which is a property? ~ 7>zandz>5=7>5 fc oo lp(f:,g
(a)| division o= [(b)[ multiplication & Vai
(¢)| transitive ez~ [(d)| subtraction Cﬁ /7

(iii) In 15 which order property is used?
?:_dlgd/db*plwl}d/'d/c;ufuﬁls
(a)| additive inverse J}G/ 3~ (b) | multiplicative inverse J’Q d Ved

(¢)| division =% |(d)| None ‘j.?ﬁ;’/
X _Z € (5
(iv) Which is a property?  X<Z :>z<z,€>0 -‘éuﬂll’(ﬂﬂg
(a)| transitive ez o> [(b)|division (e
(¢)| multiplication d ~ |(d)| subtraction di /J
Which i V2 a>b :>3<h,c<0 S tolSiels,
) ich is a property? c ¢ e Jee
(a)| multiplication d ~ |(b)| trichotomy S
(c) | division o=~ |(d)| transitive g S

Q.2.Answers the following questions.(0.5x4=2) -/ ).;LM:C.;UVJ“ B0
(i) Identify which property is used? -(/ i Y l:"5<+ RIS e 1 u/
(i) 3>2=5.c<2.c,¢c<0 (i) 10<15=10.c<15.c,c<0

(ili) X<y X-W<y-W (jy)a>b=a-c>b-c

Q.3. Identify which order of property is used? (0.5x6=3)
S/ b s
-2 7 -9

1 G) 3 G) 3 -7 12 (&) I



